Ovop:

1. No& KXVELS TLC TLHPXKXTW SLXLPESELS

486 = ___ 36:6= ___ 48:6=
546 = ___ 45:9= ___ 48:12 = ___
S52:8=. 36:9= 45 :15=

2. No& KXVELC TIC XTEAELC SLXLPEBELC OTLWC TO TEXPXSELY UX.

45:6= 7 KL vTTOAOLTTO 3 58:7 = __ KL VTOAOLTTO ____
70:9 = __kat vrtbrouto | BO:8 = ____ KoL VTTOAOLTLO
44:10= ___ kot vitopouto | 52:7 = ___ KoL VTTOAOLTLO
68: 8= ___ KoL vTtOAOLTTO 44:8= = ___ K&l vTtéAoLTTO

3. Ze plx ta&n elval 29 uxBnTég. O SAEKAAOG PEAEL VX TOVG
Xwel6eL 66 3x5eC, 4x5eC, SKSeG Kl GAOES. TTO6EC 6ELPES

B xpeLx6TOVV 6€ KXBE TLEP(TLTWEY);

3x0€§

4o0€S
500€§

6xdeg

4. No 6VUTTANPWEELS T KEVX
=(sX7)+2 =(9X4)+3

S5=(7X__)+ 24 =(8X___ )+

B2=l X+ _ 28 = . X8V % .




